20138 = =0lat LESH ZAIFZW ~ SASZ

SHEANSED
Za: 3

ez 2eAH=

Ak

—

A= =

A

= = & E
SN B CR(BH) - NREMY - BAS 0l &k 24 e HlDE 2
S AIEZE Dt 7,738,466 12,758,082 25,019,616
= 694,500
J| 20,533
& 62,930
= 6,960,503
A TAIIE DL (ZELXNGNL/XNSLTA) 2,026,960 3,823,291 A 1,796,331
= 2elHE =8 570,200 612,640 A 42,440
=2l 2F 553,700 356,700 197,000
201 L Et2gH| 6,600 10,900 A 4,300
01 At 2tel bl 6,600 10,900 A 4,300
O= Helfds 4% ¢ 70,0003 *x20H *43| 5,600
O AMA=2d 22 B3 M 1,000& =1,0000H 1,000
202 O Hl 1,800 0 1,800
01 =W HI 1,800 0 1,800
OEZAAHETHAEY =& =LHOH 60,0003 x2H 15! 1,800
203 J R =&l 3,500 3,500 0
03 Al F=& R F=4H| 3,500 3,500 0
O AMAH=ES 8t =& 3,500,000& 3,500
207 & <1IH &l 489,000 290,000 199,000
01 2 EAHI 469,000 270,000 199,000
OZAAE MEHI(Z 22/HE 2F BHE) 419,000,000& =14 419,000
O=zclHE Z2H(=ALHAY) 50,000, 000& =14 50,000
02 & AR | 20,000 20,000 0
O AMAHEFEA(PIS)IZZNH 29 &L S22 20,000, 000& =14 20,000




2AM: TAEZED
M YRS CADI ZE(FELXNGMNL/NALEA)
crel: 3 R2E S (el a2
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HI DS 2t
301 2et2 4= 2,800 1,400 1,400
10 HALAHIEAZ 2,800 1,400 1,400
OZAAHE MEH &3 8T 24 20,0002 x70H *23| 2,800
401 Al&EHI 2 2 0H I 50,000 50,900 A 900
01 Al &t 50,000 50,000 0
OFIINEHZHEANLERXNH=EXNEE 50,000, 000& *1JH 2~ 50,000
NEHED| 2435 16,500 54,500 A 38,000
201 LEer2 Al 5,000 9,000 A 4,000
01 At 2teltl 1,000 5,000 A 4,000
ONEAN 28 HEH HEH 500& *2,0000H 1,000
03 A2 Z I 4,000 4,000 0
oY =2l NHENMHED el (82, HHIYX, 2871 S) 1,000,000 *43| 4,000
301 LEIE A F 7,500 7,500 0
12 JEt2 &3 7,500 7,500 0
OXNEA Dt XNNNE2E 5,000& 750 »23| 7,500
401 AIEBIZL 208l 4,000 38,000 A 34,000
01 Al &l 4,000 38,000 A 34,000
ORSEX HXAEN =2l 20,0003 =200CH 4,000
ZHE AL 22 1,360,000 3,134,869 A1,774,869
ZHEAEEH 1,260,000 1,634,869 A 374,869
302 OI=2 Mol 2 &= 10,000 10,000 0
02 212t E &= 10,000 10,000 0
OZHEANE MDY 2 Xel 10,000, 000& 10,000




M SAEZ D
A HAE TADIE ZH(SELTAMRL/NALEA)
ol 2AHAL 2o (o9 x g
(=] X XH Ct2l (5 (=] (2] A2 OH ‘—l“jE = D}
401 AIEHIZ =201l 1,250,000 1,624,869 A 374,869
01 Al £l 1,241,000 1,617,900 A 376,900
OMUMIZHEANLEEZ2(LZ1-14,2-425E )& B A 496,400
— 243 2 Al&HI(L=190,8=10~8m) 496,400,000 14! 496,400
O3d ZHEANEZZ(AZ3-1054) HE 3 A 248,200
— 243 2 A&HI(L=130m, B=6m) 248,200,000& » 14| 248,200
Ocd ZAHANEZZ(S23-654) HESM 496,400
— A& HI(L=363m, B=6m) 496,400,000& » 14| 496,400
03 AlE = CHHI 9,000 6,969 2,031
OaUZAHSANECZ2(L21-14,2-425 6 )IHE S A 500,000, 000& *0.72% 3,600
Osd ZHEANEZZ(AZI-105H)HES A 250,000, 000& *0.72% 1,800
OZd ZHEANEZZ(E23-65H) HESA 500,000, 000& *0.72% 3,600
T HEANEZE 72 100,000 100,000 0
401 Al EH 22 0hH] 100,000 100,000 0
01 A€l 100,000 100,000 0
OZHEANEZS mA2el 100,000, 000& = 14! 100,000
2 2t 96,760 75,782 20,978
SAZ V=L SSOURNAAE 96,760 75,782 20,978
201 L Et2gH| 3,760 9,680 25,920
01 AR 2telbl 1,960 9,680 NT,720
Ogdzm s MRS HA&T =Y 70,000 79 »43] 1,960
02 23294l 1,800 0 1,800
Ol2w F&xY L= 150,000& 128 1,800
206 T 2 bl 3,000 0 3,000




fA:

HH: S SAIIE ZE(FELXNANL/NALCAI)
Sl A= 2 (el &)
= = & E
2A -2 - (3H) - NEANY - BES Off &+ o4 ‘Oﬂ,‘qﬁ Hus
01 =4l 3,000 0 3,000
OsgZns It ZH 2 (UHAXFIAL 38) 3,000,000& 3,000
301 et a3 20,000 5,400 14,600
12 B2 43 20,000 5,400 14,600
Oz H&E JolEete &4 BAS(MAAXIHIS 20%K &) 20,000,000 20,000
401 Al EHIZ S THHI 70,000 60,702 9,298
01 Al£Hl 70,000 60,000 10,000
OZ1n= HAI &X ¥ 22l 70,000
—AIJHX 202 AHAE X (32E) 5,000,000& 24 2~ 10,000
— 82 NEANANL SX(FLS2 4HH) 9,000,000 «5J1 2 45,000
— 8% NEFAHAL B & 2e] 500, 000 *300H 2~ 15,000
Moo Elole XL (BIES/AY) 996,652 1,133,674 137,022
= 87,500
pJ 20,533
= 48,930
o 839,689
osgd 28 211,310 324,304 A112,994
= 16,000
s 8,900
= 186,410
oisd 85 (=) 6,500 8,000 A 1,500
= 6,200
= 300
201 fet24Edl 6,500 0 6,500
s 6,200
= 300
01 At 2teltl 6,500 0 6,500




2AM: SAEZEN
FH: AN ol SEXLE(BEES/KA)
Chel: HoEd 28 (&)
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OEHIEZAY 6,500
—30tJteE JIFE, UXESW 2Z(B#BEXIZ) 6,500
2ALE 200,000& *313| 6,200
= 6,200
WE=3 5,000 *4&+152] 300
oisa 85 63,750 58,994 4,756
101 I 24 4] 52,350 40,994 11,356
04 JI12ZtHZ2EXHSE+ 52,350 40,994 11,356
ORgEs & NAFARX 22& 31,692
—-Jl2= 38,880 x 13 x45! 22,745
— =54 38,8803 x13F 0 4,549
— X 38,880 x 13 1 506
—EEZ(4UHEE) 27,800,000 »14% 3,892
OFNEELZ2 ZARAE(ANEZ) 9,576
—Jlg= 38,8803 x4 H 22 #23| 6,843
— =54 38,880& x4 H x4 U 23| 1,245
— X E 38,8803 x4H x 12 23] 312
—401 E82 8,398,000 »14% 1,176
OLHYSLELEY 2HAR B 11,082
—J2= 38,8803 x 18 %200 7,776
FEY 38,880 x 18 x40 1,556
PN Ry 38,880 x1H+10 389
- BE=Z(4UEE) 9,720,000 »14% 1,361
201 LEr2F I 1,600 6,400 A 4,800
01 At 2teltl 1,600 1,600 0
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s
12

HE T
Off &t 4

100,000 #2024

2,000
2,000

MW

14,000

7,000
7,000

H A

8,000

4,000
4,000

e
o
00
o
4

e
mw
o
H

500,000& *22|

40,000 x50

500,000& 45

3,000,000

MW MW

H A

M

5,000
5,000
1,000

500
500

2,000
1,000
1,000
2,000

1,000
1,000

3,000
3,000
3,000

1,500
1,500

MW

6,000

3,000
3,000

6,000




= = PSS
2A -2 - (3H) - NEANY - BES Off &+ o4 |oﬂ/:+0_|EH Hus
O3HE2=Md 6,000
—Jecd Uus & MU 4% 243 40,000 x50 x2& 4,000
= 2,000
= 2,000
—24JtA ZEES FOHA 24 10,0003 50 x4 2,000
= 1,000
o 1,000
BAZQIER QHEE X& 18,000 22,800 N 4,800
= 9,000
& 2,700
= 6,300
301 fetE2 =3 18,000 22,800 N 4,800
= 9,000
& 2,700
= 6,300
12 J|Et2 43 18,000 22,800 A4,800
O=H2xAY 18,000
—EFAIZOIER QIMEIE X (28]) 18,000, 000& 18,000
= 9,000
s 2,700
= 6,300
$ZEE MY 541,493 724,911 N 183,418
= 23,100
S 21,550
= 496,843
AAF AKX 2el 13,000 14,000 A 1,000
401 AIEHIZL 2 THHI 13,000 14,000 A 1,000
01 Al £l 13,000 14,000 A1,000




Sk
X ZH -
=1

el

M & e
2 gy 02

e >4
e =

=l

M=

=

>r
12 o
oy
P
0x
o
o
I
fol
=
e

0x o

Off &+ o4

fEle=
Ol &t o

1,000,000& « 1304 2

13,000

Mo

46,200
23,100
11,550
11,550

44,568

1,632

402 212X =01 A

Mo

46,200
23,100
11,550
11,550

44,568

1,632

01 oI 2k

46,200,000

oA

46,200
46,200
46,200
23,100

11,550
11,550

44,568

1,632

H

33,333

10,000
23,333

32,411

922

302 0= Mol 2=

H

33,333

10,000
23,333

32,411

922

()
nNo
e
v
=
=
%
H
e 0z
oy

O
H
=

|
_?_ [un
0z
on B
TH0
E
%
H
0
>
Q
N
o
02

33,333,000

H

33,333
33,333

33,333

10,000
23,333

32,411

922

Of

0z

SSHHE &AL (XHA)

10,000

10,000

302 Ol = Mol 2&=

10,000

10,000




2AM: SAEZEN
Y XY &Moot AL (BBES/NHY)
Sl BARN RAAY EEE-T)
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
02 QIZIOITHOH E & = 10,000 0 10,000
OtsE Il 243 5,000,000& 2 10,000
Ot == IloH X 13,380 7,900 5,480
201 L Er2F | 1,750 1,900 A 150
01 At 2tel bl 1,750 1,400 350
O0tM=sE el =& =l 7,000 «5% «502] 1,750
301 LB A Z 11,630 6,000 5,630
10 HALAHIE &3 630 0 630
ORI sSE CHelZalth 2ifa AL B4 7,000 *30H *33] 630
12 JIEt2 &= 11,000 6,000 5,000
ORMOIMES2 HelELE 243 11,000
— SR 40,000& 2000t 2| 8,000
— ek 10,000& *3000t 2| 3,000
SssEA 4X L 7/ 425,580 626,032 A 200,452
401 AlEHI YL 2 0H 8] 263,080 468,532 N 205,452
01 Al & HI 262,000 465,726 A 203,726
OZ2=s&A MUF(+=3RL) 160,000
— A&l 150,000, 0003 * 1 & 150,000
— 2 AIE AHI 150,000, 000 & *6 .. 24% 9,360
— =&l 320,000& 23] 640
O3 da el AP (S7H) 25,000
— A& Hl 25,000, 0003 1 & 25,000
O0lsSASEA 2 AX(ZEFIHEA2M L) 10,000, 0002 *3H 2 30,000
O=3a&EA A2 HESAY 1,000,000 404 A 40,000




2N EASED
NI BHGHE BYES(BRS/KW)
GOl BASEH TLAY ECH-E]
5 < L]
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ‘&ﬁ Hus2
SENEFEEEEIEERE 350,0002! *20S 7,000
03 Al &= 0hHl 1,080 2,806 A1,726
TEHEY MSAY 150,000, 0002 *0.72% 1,080
402 BI2HXH 0| & 162,500 157,500 5,000
02 I 2HCH 34 AF 21 H 162,500 157,500 5,000
OZE3IEA Q1A 22N 2,031,250 *807} 2 162,500
B MEBHAXY 243,849 84,459 159,390
= 48,400
p] 20,533
3 18,480
= 156,436
24 JERL HFL 1,200 1,000 200
201 L Er2 S| 1,200 1,000 200
01 AbR22IH| 1,200 1,000 200
OMOIGHEHMRlAE +HEHA H4+E P 6,000 +20074 1,200
MYl RHEI| S 68,932 63,459 5,473
101 @1 24| 20,036 20,059 ~23
04 JIAMBERSE 4 20,036 20,059 ~23
OMEDl HEX LA 29 20,036
—Jl2g(=ognel HEAMY) 33,8802 *4 % 042 14,619
—EELY (YN FEAY) 33,8809 *4% + 152 2,333
— QIR AY (Lo YRE HEAY) 38,8802 *4% x4 623
-288 17,575,000 *14% 2,461
201 LerE | 45,896 40,400 5,49
01 At 2/t 45,896 40,400 5,49




2AM: SAEZEN
FH: AN ol SEXLE(BEES/KA)
ol e MEBHATA =EERT
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OoMegdl, 2=, =2 S8 &S S 2 7,000 x4 x120 3,360
oMl S8SFI ¢=2@ IS 50,000& *20H 1,000
OoMgdl E85J oY 22 M 200& 10, 00004 2,000
OMgdl &85SI XY 3nE 43 300, 000& =107 £~ 3,000
OAIFX Mgl =HE &X 200,000& 1004 2 2,000
OoMgDl EYEI 31,536
— 2 AIJt0cH LtHE XI=(18CH) 1,960, 000& =122 23,520
—2AIJtHI2t SIHY At E K= 308,000& x128 3,696
— ZTAIJt0I 2t Ol & XIHl K= 120,000& *363| 4,320
OMYIIHEX HZ2ZA 2SI3H(BLAERE) 3,000,000& 3,000
301 LEIE A F 1,000 1,000 0
12 JIEt2 &3 1,000 1,000 0
OgtZdegdn BaAI(H=s, Mg, L8 S) 50,0003 2024 1,000
307 Q120 & 2,000 2,000 0
04 QI2tHALE X 2,000 2,000 0
O=s1=8 UsZH 242 1,000, 000& »23| 2,000
AT o 2 HAHS 22,933 20,000 2,933
I 20,533
= 1,200
= 1,200
301 LEIE NS 22,933 20,000 2,933
| 20,533
= 1,200
= 1,200
01 AHSIEEZE 6 S 22,933 20,000 2,933
OJIZEXZ ALY 22,933




2AM:
X XH -
L= B

el

I
oY)
vl
0x

o
o
I
fol

= A

CEB L S(EH) - HRAY - BAS

fEle=
Ol &t o

— SIS0

22,933,000

S

Mo

22,933
20,533
1,200
1,200

Sd O EXMXEAAS

Mo

150,784
48,400
17,280
85,104

150,784

101 /24|

MW

54,784

10,000
44,784

54,784

O=tl

— A
~

T
o
e J

re
i

HL

o

fu

04 D12 N2 2RHSE =+
ES

38,880 x12H 103

48,056,000 *14%

M

MW

54,784
54,784
54,784

48,056

8,771
39,285

6,728
1,229
5,499

54,784

402 ¢l

ry
pea}
h
o
>

Mo

96,000
38,400
17,280
40,320

96,000

01 22tRt=E =
sl

XMelAg

2,400,000& 40

mnoH

96,000
96,000

96,000

38,400
17,280

96,000




SN SAEHD
Mz A SMole SFAXL(SHES/NH)
Crel: NS MEBHAZTH (el @@
MM . o2 (3]2) - NEAY - HAS 0l A o e 2t
= 40,320
EEd T4 (stZ2ES/H DI 3,476,798 5,949,811 N2,473,013
= 607,000
== 14,000
o 2,855,798
2 2 WEE 1,065,198 1,071,451 N6,253
= 8,000
== 14,000
o 1,043,198
Mg 0l Hel 993, 198 1,005, 151 A 11,953
101 @1 2 H 144,968 149,121 N4 153
04 J|2tH 22 XS E 144,968 149,121 N4, 153
OXL2AIE & H M2l =2l (0 51,487
EAR==1 40,0403 4H %200 32,032
— 2FAH| 3,000& x4 x200 2,400
—F&EH 40,040 4% x5 8,329
— A= 40,040& x4 15 2,403
—2EHI(4HEE) 45,163,000& *14% 6,323
OHHL JI2d3A L HEES = 82,842
—Jla3 38,880& x7H 200 54,432
— =54 38,880& x7H x52L 14,153
— XS 38,880& x7H x15L 4,083
—2824 72,667,000& *14% 10,174
oget Xl Mg oro| 10,639
—-Jl23 38,880& *4H 60 9,332
—BES4HEE) 9,332,000& *14% 1,307




A
X ZH -
=1

el

SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
201 L Er2 3| 408,690 422,390 A 13,700
01 AtR 22l 100,600 143,800 A 43,200
QHIISHM2AIE 22X S| 7,000 x5 x100 3,500
OF2ZH 7 & =4 100,000& x10& * 12l 1,000
OMedl thEs & 23 222 M 250,000 x2E *23| 1,000
OLesSAE SAER HII2 2= 90, 000& 1004 9,000
OSAMES HIIS =2 HRZS(E) MH 150& 30, 0004 4,500
Olg®d =& & XY I x= 81,600
— =4 600,000& *83| x12& 57,600
—gDZEd™ 500,000 *43| x 123 24,000
02 2324l 308,090 278,590 29,500
OsZHJ28 SEgxdadE 2223 HMAl 3,500,000& x12& 42,000
OANEZFHISXNEI(HE, HEESHEH 400,000& x10&*13] 4,000
O X+l 247,650
— HAXE(1200) 1,900& x304 *12CH*300 205,200
— XZ(1th) 1,900& x304 *1CH*150 8,550
— ZUl (ESHEH XAHR) 1,900 204 *3CH*100 11,400
—Xg, ZH FHK|X ¥ A2F P2 1,500,000 = 15CH 22,500
OBEZ(HIIZEAM, NSIA EZ&) 850,000 = 15CH 12,750
OJIEtEZ23 (#4324 32) 65,0002 »13CH 23] 1,690
202 O Hl 8,640 8,640 0
01 = L HI 8,640 8,640 0
OSA=MYI AEHe 25 20,0002 x15L x12& 2L 7,200
QHIISHM2 Al &&X As 60,000 x4H +63| 1,440
206 M Z I 64,800 52,800 12,000




Sk
X ZH -
=1

el

2t

MEEH ZH(BEES/HIIS)
2e 9 e

o o = =2 o

SN B CR(BH) - NREMY - BAS 0l &k 24 e HlDE 2
01 M &4l 64,800 52,800 12,000
Olz2dax & 332 PPEN M 800& *6, 00004 4,800
OMYINIESEH HASE HE(65) 2503 *20,00001 123 60,000
301 et A3 7,100 7,100 0
10 #ALABIE & 2 5,000 5,000 0
OHJIIEXMEIAE A IR 24 7,000 x50 *43| 1,400
OHJISHM2AE SAL S8 X As 60,0003 *60H « 13 3,600
12 Bt 2 &= 2,100 2,100 0
OMEES(I=sHIIE) =% 2= Y A& 2,100
— i *=+ 1,000,000& 15 & 1,000
-2 = 500,000& 15 ™ 500
- o 300,000 =25 ™ 600
307 2rztol A 310,000 159,600 150,400
05 212t Er 3 310,000 159,600 150,400
OSAEF HIlS fI8Hab 100,000& =1, 100& 110,000
OXNHHHIIE |EXeltl 250,000& =800 E 200,000
401 AIEBIZ 2048l 40,000 196,000 A 156,000
01 Al & HI 40,000 196,000 A 156,000
oMYl BHEXE He ¥ (&2, 29 500, 000& «20H 2~ 10,000
OMEES HEAL(ZFI ) 2=+ 5,000,000& x2& 10,000
OZsHIIS(BHAEE) HMel 100,000& *200= 20,000
405 Xtats S| 9,000 9,500 A 500
01 AL ESZSHSHI 9,000 9,500 A 500
OMeEE 22+HEIJI(BEER) 300,000& *30= 9,000




A
X ZH -
=1

el

= = & E
S BB SA(BH) - MEAMY - BHES 0f & o8 e HIDS2
HHE=HBIX& 72,000 66,300 5,700
=2 8,000
= 14,000
= 50,000
301 et A3 72,000 66,300 5,700
= 8,000
& 14,000
= 50,000
12 B2 &= 72,000 66,300 5,700
O3HE2=AMd 72,000
— HHE =24 X& 90 *800,000kg 72,000
= 8,000
= 14,000
= 50,000
HIlZ2 HMclAld 2,411,600 4,878,360 A 2,466,760
= 599,000
= 1,812,600
HIIE M2Ad 22 138,560 128,360 10,200
201 L Et2 9| 52,760 57,760 A5,000
01 At 2teltl 11,000 2,400 8,600
QHIIZHM2AIE 282 2 150,000& 12 1,800
Oz 0lstd m=t 150,000 29X »23| 8,700
OHJIISHM2AE 220 MIIAE HEES 100,000& 54 500
02 =524l 41,760 55,360 A 13,600
OZBA CCTV M2 LS (OHZZLH) 10,800
— &l HEAAE 500,000& 128 6,000
—JIE HEAd 400,000& x12& 4,800




2AM: SAEZEN
Y e MEsd RS (BFES/HIIE)
el HOI2 HMalAld (2 &@
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
OXgD| HEH &F+ =Z2IM =2 13,800
—&dES 400,000& 123 4,800
— X ot= 250,000& 90 A #4353 9,000
OMEANE HAZN =22 (7T &) 160,000 *3H A+ 123] 5,760
OHIISZEgHMelE A=2H (22l s ML) 1,900& 204 *100L *x3= 11,400
206 M =4l 45,800 38,600 7,200
01 =4l 45,800 38,600 7,200
OMgsdE 2288 7¢ 100,000 *10& *43] 4,000
OomMegss =288 gzl RY(1ES) 10, 000& *50004 5,000
OHIIZMHEHE =ENW F 200,000& 503 10,000
OPETE =D Z2&EHd 7Y 100, 000& *202 2,000
OHII2HMelAld SHAXZ(A4SH) 30,000& 300 9,000
OUSBAE 25H P (LHMNHE) 30,000& *100& 3,000
OFE+ MelAME 4EBRL (ST 28) 30,0002 *35 x50 CH 4,500
OHAE AZE 7L (&L, 023 8) 5003 «45% 280 6,300
OHJISHelAE HAEZE P (A S) 500,000& *43| 2,000
401 Al HI 2 S O b 40,000 32,000 8,000
01 Al & HI 40,000 32,000 8,000
OMSBAIE = 20,000,000 =14l 20,000
OMEEUH X &2 & 10,000, 0003 * 14! 10,000
OMSBAELH &ZHl =&HI 5,000,000& *23| 10,000
MYl A2AIE &X 1,823,040 4,750,000 A 2,926,960
= 599,000
= 1,224,040
202 O Hl 2,040 0 2,040




o

ol

sl
MEsd X5 (SEES/HIIE)

(=]

CHOIE MelAld

(=] A XH ol ( 3 (=} AH (==} OH Xl—-lll‘jE = D}
01 S LM HI 2,040 0 2,040
OXgDIl A2AE X HRFE O 60,000 x2H » 17 2,040
403 UHtXIEH S =01 A 1,821,000 4,750,000 A2,929,000
= 599,000
= 1,222,000
02 BII2S0ICHSHCH A ALS BI 1,821,000 4,750,000 A2,929,000
O3t MY 1,821,000
— MDA AIE A 1,821,000, 000& =14 1,821,000
= 599,000
o 1,222,000
St=MIMNII ™M2lAlE &X 450,000 0 450,000
403 TUHtXEHSA=01H 450,000 0 450,000
02 SI1 2SOl CHEHCH A AL HI 450,000 0 450,000
OZHLIEZAS (ZHIRER) 450,000
—ot=MIHIl XMelAld &X 450,000,000 14! 450,000
S(TASZL)(BALS/M6I4E - 23) 1,115,000 1,729,000 A614,000
LHEHH K= 1,115,000 1,729,000 A 614,000
2 HES 1,115,000 1,729,000 A 614,000
701 JIEISIHE ES 1,100,000 1,718,000 A 618,000
O1 JIEIRI AN ES 1,100,000 1,718,000 A618,000
OFII0IEHEZHEAELEUXNENY SEE3H HE2 100,000,000 100,000
=HENLEELEIH HES 1,000,000, 000& 1,000,000
7020138 ES 15,000 11,000 4,000
01JI3d&E3 15,000 11,000 4,000
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A(SA) - NEAY - BHAS

Off &+ o4

fEle=
Ol &t o

o
n
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S ,UEHE >

15,000,000

15,000

123,056

122,306

750

123,056

122,306

750

123,056

122,306

750

e
z
Mo
02

65,786

65,786

>
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u
(mny [mmy

x

O O
W Hr 40
12

Jm op
(==

r
=
=

PO (AR A, HIOISMel &)

1,831,000 +31&

7,000 31 #2562
150,000& »2CH«12&

65,786
56,761
5,425
5,425
3,600

65,786

53,010

52,260

750

80,0003 312 =128
75,0003 #3110

53,010
29,760
23,250

52,260

750

4,260

4,260

355,000& 128

4,260
4,260

4,260




